ERI-9-9 (2017-18)
TEHaH (GRINUTIRAH)

HEll : Ro
SAMPLE QUESTION PAPER (2017-18)
COMMUNICATIVE SANSKRIT
Class: X
U o
Roll No.

o FHNISNE IS FFIHIN-TH GEa g |
o  FUNSAEF S FF I UAN-THAH t0 UAE |
o FTAT U H ST [AEHI F[E FlA € UES U F FHI® 1074 5 |

e  Please check that this question paper contains printed pages.
e  Please check that this question paper contains 14 questions.

e  Please write down the serial number of the question before attempting it.
15 minute time has been allotted to read this question paper. In this duration the

students will read the question paper only and will not write any answer on the answer

book during this period.
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ER-5A-95 (2017-18) / SAMPLE QUESTION PAPER (2017-18)
EEHaH, (FRISUTIRAH) / COMMUNICATIVE SANSKRIT

Fe: 20 / Class : X

7T @Iﬁ’qu gﬂf@ - ¢o
ferarifa @wa ; 3 =oe SR 31 : co
Time allowed : 3 Hours. Maximum Marks : 80
que: &t SUTSAR-AFIAH, / SIS d-STaara= : 20 3igm:

Section A Unseen Reading Comprehension : 10 Marks

oL @: THATCHE-HEH [/ TIATCHS-H . gw 3fgm:

Section B Writing Skills : 15 Marks

ue: : SIGH-ATRLIH, / SFIIh AR D Y STE

SectionC  Applied Grammar : 25 Marks

Hue: o qied-TEargay / qidd-raarda . 30 g

SectionD  Reading Comprehension : 30 Marks

fedam: / Instructions :-
(i) A I TAN: QULT: |ied |

T T H IR @ |

The Question paper has four sections.
(i) T WUSH A ITRNT ThRH TTH FHHUT SET |

el TUE % IR T &l ST T FA § fored &

The answers to each section must be written at one place.
(iil) TG TN ST SEAAT|

T & STTER TA-HET STaed fosat &ntt |

Write the question number according to the question paper.
(iv) Qe S ST S ST |
T 9% % ST Gepd | fsRaw |

Answer all the questions in Sanskrit.

@ue: & (Section A)
ST,/ STfSd-STaae= (20 3igT:)
Unseen Reading Comprehension (10 Marks)
L ritfosRae Srged M Seme S ST :
frAfARad STg=e, 1 TEahT QU 3T 9% % IO E6hd H alfaa ;
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Read the following passage and answer the given question in Sanskrit :

. o < < o ~ o [a NN < Aty < a0~ < .
SICER) Wﬂ’q FH hdqH Id 3= | 1:EWT'JTT Sdd RdHAASAAd Hdql IATTHAT | hdHITAA
o o = =~ < . AN < . ~ .
STEETIRRTST f320d | §9 U9 ThdeaeI=Rul Fafed | §9: Tdd adid | arg: STEfal d8fd| b9
o o . . ¢ =~ =~ o < [a N oA o N o o N SN . .
I TRETd | ST GEHd & AT Fid TR HdAT (IR died | A oS qios

HERTRE FaeaH | faaraaad, GRE-FEIH, @i SRR |9 891, 9EEE 9,
IURNIET: G FHdeATl Gied | : A FAAIEU: Wald @ U G E&h: A0
T | Td: Tz HSA: Tl Ehcied T-IaH | Ehed A ey ara |
o -
I TRUGH 3T : 1x2=2

T F0eg | ST 1T

Answer in one word :
()  SUE: T ORE?
(i) T FETEf A
I O 3O 2x2=4
Answer in complete sentence :
(i) T S Fe I T
(i)  %: GHNE @H: TGO Hard?

M e Ahedhd: IFaq IR e foad: Yox=4
fow o faercal © @ IFad IR g fosRaa

Choose and write the appropriate answer from the given options :

() aurr 3 PR wEve e e
() @ g
® A (| &
(i)  Sie gEwd %q I ferRIuTae e @il
() Sl @ g
@ FH ® @
(i) /e o %: 99 TR S
(3) waH @ g
@ & (@
(iv) 'G:EHT I F: HSH: TR T9H
(3) gEH )  EEH
(@)  FaE (@  Eaa

(IV) T STeaed Fid QY 31 Sehae (oed: |

TH =S % (AT I 3N Sehe | fosiay)
Write the appropriate title for this passage in Sanskrit.
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@ue: W: (Section B)

THICHH-HAH / THICHH-H1 (24 STgT:)
Writing Skills (15 Marks)
2.  w-fraend aifiEcad auiae: s ol fefad o agem: Ifeaue: Rt g

o farared & AYHIcHd FT 90 FXd g0 i & ufd fosd T1a o & v @ Sfa 9g g i

X

Complete the following letters and address it to your friend describing your

school's annual day with the world given in the box. 1%4x10=5

ETAREEDICRE
(1)
ferre: (2)
o et (3)
(4)

Wad: o U o’ @Eaead (5) JUIEAT | THEEYEEE (6) ad
ITATRT: (7) = FHEY A A | JTTHHRIGT: HEFA (8) A G
fornesad 2Tdia IrRidd ) TREE: SERE: 1 (9) =3 | Y™ ;|

H4d: (10)
T |
i
R, [gia: , TFa: , 3, e, TRl , Jema: , 21.04.2018 , Feeae , aisemicaa|

3. oT: UGH (e TH1 Aeeludl VGTRIGH! Haraal = AT« S [odd:
< fe T st 61 Juie Ag H fou T 2] i HeTHar @ i Hehd arwi | it
Describe the following picture in five Sanskrit sentences with the help of the words

given in the box. 2x5=10

ANl

SF:, ST, G, TR, SIGH, Hehl:, Fdllel, TR, IeE=ihar:, e, femE|
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s

941 (Or)

TN V-2l AerA fermfosiad fwam i 1= S TRy TH =l foed:
AT H U 10 1) 1 Herdn § frfoaRad e oX of arel | U ST fhau :

Write a paragraph in five Sanskrit sentences on the following topic with the help of

the words given the box. 2x5=10
- gglﬂ';

BT, ATATEROR, STUT-aH, (SIFAI), My, i, @M, ®otie, F[6H, THel:, Tgeul: 9

QUe: T: (Section C)

TR/ ST SH (J4 IgT:)
Applied Grammar (25 Marks)

MfSRId-aTRIY Wiy 9oy @iy Gfease a1 Feal fosea:

ferafosRad il § Tatgd aai | @feq srean |fe-fa=sg Fts fofa

Write the underlined words of the following sentences after joining of disjoining
sandhis: 1x4=4
() G Al+3Ed 98 9 ITF |

(i) W ITEE q=f ST |

(i) T TESEEE IR |

(iv) o o e Y AT

AR -ATHRIY TAE TG THIH [0 a1 U< e fowd: -
At Rad aTell § TETgd Jgi &l THIH ST&aT [Ug U I faaedl # € e [oRay -

Choose and write the correct compounded or expounded form of the underlined

words in the following sentences :- 1x4=4
(1) Ais: FHs: T q: KA f<Eah|
() AowusE: @) ASHTS @ A
(i) U O T=sg)
(3)  Frh-GRdH. @) I AREH, (F) R ST
(iii) OH: T ZAM: I qH T=2d: |
@) T @)  qERE: @  qEE
(iv) T=EUEH ST |
(3) UEAUENT EEHER: (§) 999 @) T

TS RE-aTRIY TG S-S Haied fented a1 3| ST fhedna: R fowa: -
o oo ‘\Oﬁ\ f\' qﬁ% o ‘\0$‘\[ AN mq%m% o o ‘\bﬁﬁ

[ASEY :-
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Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots words. Selecting the correct answer from the option given

below :- 1x4=4
(i) o T =T A9 FrdAd |

()  F: @ FE @ FH
(i) <t ARl B+ TSH ATZIAH

(@) FredH, @  wrea @) wiedn-

(iii)  Thd: THUNEC] HARHT TR |
() TUE+IY  (F) EUE+dg (F)  EOE+er
(iv) Skl I T2 T |

A

@) SifFF+SH () ISH+SM (F) SIRR+ST

FeNfSRad HaTe AP g Ue: Ar=ARad Fedl WA | 9 4: fosea: - 1x3=3
TefesRad daTe 1 Hegge § fo 10 Fred] il Geddl | ar=4-9Rad= Hld g Ey dare g fRaa)
Fill in the following dialogue by choosing the right words as per rules of voice.
Rrw: - % od el wefe

oE: - ! T4 (1) TS |
s - & T o foatar
JE: - ! (i) o6 fEd |
Re: - I 6 (iid)
o - Tg: 9afd |
FeRdd, TEum, e :
el Radie=aTal REe i Hicbaraehare: Jawd ;-

N ol aN o C S e (aN ey N N o
WWFW#%W-MEW:-
Rewrite the time table using Sanskrit work in place of figures :- 1x2=2
() 2% 5:00 et |
()  7:15 T T3t |

HEfSRETETRIY, R TSt Sed: Sd: eade: QUi foed -

ferafesiaa arerll # Rk Tl %6l qfd w5 # fom 1e Sfa oted uef g T -

Fill in the blanks in the following sentences with appropriate indeclinable words

given in the box :- 1x4=4
i) |9 e feTeaia
(i) TATSE TR
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(iii) =™ Jad|

11.

(iv) ANY: A 9: T
Al
9, |, dfe, e
10.  STIAREdy TRy TENgdUGH, STIEH, 1R | 3T3]E-U¢ Hal fo5@d :- 1x4=4

Se Sen

STNfRad-aTl § g 98 3T & | 318, eq i g B g: fosed -

Correct the underlined incorrect words and rewrite the following sentences.
()  E ey T |

(i) & N HSHT AR |

(iii)  a: TA: oo TT=3id |

(iv) o a4 qEhTI TG 3TNTS3 |

Hue: &: (Section D)
qid-SEaeH / Qid-STae (30 3fg:)
Reading Comprehension (30 Marks)

ITIfosRad T, Te, AR = Yl Je-AAT- ST @&k« fooed :-
ferafosRad TTaal, T 3T Tearat 1 Jahy ol 3T U2 % SOy Hehd | fofay -
Read the following prose, poetry and drama passage and answer the given question
in Sanskrit :-
(3 T
Y T dl TIAE & AR] Fieq: HIAd TeEM, Ted SEEdH - W1 W A | HI
e e AR Fied? Al Big T qad dfe | fmemt M R R, SgEd)l aegeE 9y
HfAq Iggve: TIoE: Ia - AR Wil T de F Ha Gaed IRAH I FIAF I Tgr?
Y 3qH ST ?
)  THYeA I - 1x2=2
T Feg H IR I -
Answer in one word :-
(i) @ T e ST
(i) SIS TR AW FHieled T?

) UkdEH SO - 2x1=2
QUi H I ST -
Answer in complete sentence :-

()  IIqUS: dH: A EqA?
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(%)

M) vedH®Redd: IradH ST Ml foEd - Vox4=2
faQ 719 kel | | I ST IAw [SRAT -

Choose and write the correct answer from the given option :-

F) A Efd PR wqud R -
G (i)  wWaE=t (iii) aSH:

W) P - O F: S TRl S -

= N

() SO (i)  guEH (i) &M
) Ay GEAH 9 W TERRA? -
() =0 (i) TR (i) GRRE:
U)  IgeUe: AIF: - o (o faRurae S -
i)  Sqaue: (i)  wTSH: (i) FweTE:
I
FISAT:? ASHENG:, BT T2 AT el 7 19Tt 1 Feh:? A2 e PRI | = = ST |
I) Y ST - 1x2=2
T Feg H I GI1TT -
Answer in one word :-
() T THERG: G F:?
(i) T fear A spotfa |: %:?
)  UhdEeH 3TN - 2x1=2
qUIETR H IR 1T :-
Answer in complete sentence :-
(i) I FIS PR o 9 I |: F: Hard?
) YeAeHeRd: Iraaq I Ml [SEd :- Vox4=2

form a1 el © @ I ST TR f5RaT -

Choose and write the correct answer from the given option :-
&) 'S - I & ﬁ@lﬂ:%fl%w:-

Q) e (i) TE: (iii) TR

W) IREd: g aeeaYe feeeT-ae fod -
() HFEN{ETE (i)  FEOERSE (Qi) A wERG:

M STy STRE 9 9T -

(1) | i = (iii)  =9u
) "IHH - I h: TIH: -
(i) g8 (i) (i) &9
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@)  deE:

graf: - S TR A | A SITOT: SRS | SR |
ANF: - A A S a6 JgraE g SUCRE oS @ Thal g,
AR | eTel el |: GaRIaehH o |
g - (|ieEE) S T )
oSiFwm: - ST AT FUGH| A T TR SIS0 | IS o T e, AR, 9;
< 91 S9ord, T ggTH |
g - daed: |
NFO: - € THY T S | IR0 TR, 3 Sh: T QUL QU =56 IEIdT,
o | T ek TR ESIAGH, 1Y GHE: 7 InTad |
)  ThHYGH I - 1x2=2
T T § S 1T -
Answer in one word :-
(i)  %: SREMEN A ®REfA?
(i) 1T, 2ih O e GRS A
)  ThdEe ST :- 2x1=2
QUi B I ST -
Answer in complete sentence :-
(i) A SE: R T TS, TG FH A
) YedEHeRd: Iraaq I Nl [&Ed :- Vox4=2

foq T fohedl ® & I ST I [ -

Choose and write the correct answer from the given option :-
F) TR T & [SH: TR Y -

(i) (i) = (iii) — STwE:
W) U QI - 3 s fRur-ven et -

o

() T (i)  |UIE (iii)  EUIF-GTOTT

M A RA IS F: T TG -

®H  dEd (i) = (iii)  Aq
u) &R 3 e wque R -
()  <igem: (i) o (i) i

12. CEIEduare mgcd u-fmi F6d - 1x4=4
@i Tei SR 9 - e e -
Frame the questions on the basis of underlined words :-
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(i) SIS FesEgeh I RA: ARES
(i) AN O STeaEd |
(i)  STEUTHCHIRI T SLFIRY R |

(iv) FHTRYHET: We: THEHd FEd |

13.  FEA: GYradugl Ml STalieRad Smgaed Swad I0ad -
A ﬁﬁe@%aqawﬁa%ﬁaaiﬁ%ﬁﬁmwﬁﬁﬁq-
Complete the prose order of the following two Shlokas by choosing the appropriate
words given in the box :-
(®)  o1qd: FisTU wrRNST fFd q@ Rk Vox4=2
Il FrEHTE & F=drd
& VRl 74 (i) R (ii) fod | (3m)
&4 (iii) g=91d 4 (iv) AT
@) a1 F=sid 3™ a1 e J&8d ) Vsx4=2
fraTse & THad sgfRechdgia |
foan g9  (4) HeEd (i) To3dl, ST T
o (iii) a4, IRE: (iv) |
w [y
IGH, d9:, IMYd:, [HUTIEH, dohdsidl, dcd, &9H, JheH.
14.  MTSRIARIA Tt WId fshed: T foad - 1x4=4

TATREd Il I T HIG [Tkl H & Frwt [GRaT -

Choose and write the correct gist of the following sentences from the given

options:-
(®) =S & T FN T TSTEEH -

() A (i) SHIRNSH (i) JSUEdH
(@)  Hdd Fehad IRATHH: -

() R (i)  THHE (i) S-S
() eI EHA G = e -

(i)  IEI (i)  feEoT (iii)  rEme:
(})  SI9Et awfn: e -

() (i) = (iil) A=

E L I N
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3tg, QI (2017-18)
TR (THINUTTRH)

HET : 20 (RS- ¢R)
MARKING SCHEME (2017-18)
COMMUNICATIVE SANSKRIT
Class : X (Code - 122)

N A ST .-

1. TS Ul % I fehcdrcns Wi 81 @d & | 30 ig e § 3T 710 ST (e & | 9a< I
% TR i T IaR o TE) ST &1 G &, 31 g fiuamd)

2. IIgwdE AUl Wikl W MR T AT & | el ergeee # fou e adl % e wed

ST AT TG H TERT W Y TR &, TR W efg fon o) el IvR 29 e I
fepafh Tora a1 6T TR A& FXA a ST 37g FE A T )

3. Ul adl AT SETE AR ST % o5 I g HIE S A o R/ AT |
T 28 | Tt ST o (50 1 3fzra: ofg faxd fgu o)

5. WU ® (TEIHH-HM) H REEuH O Sed- S T dehicds &1 ol A {5 o foashed
g 51 &1, 3 qUI-aig, o SRR &1 | STeRl-Ea S 2 = {6 aTeRl 1 Hiegd dcd | 3T are-
e % fosw ft afg; ferm o

@Ue: ®: (Section A)
REATT-STTEII /STAfEA-STTE (2o AFT:)
Unseen Reading Comprehension (10 Marks)

1. I UhYSH SN : (FAF HFT F 154 ¢ 37%) 1x2=2
H o\
(i)  EhdeEH
I YUl S : (3199 5c9% 9T % 15T R 3i%) 2x2=4
() WO S FTIea Heal SRt |
(i) T H¥E: HASEUET: el § O A (&: AR Wi |

[l e ey SMaH SR Ml [@a: (T 79, 9c9% 91T F 150 15 3F)  Vox=4
0 @ T
i) (@ FEH
(i) (3 G
(iv) (3) gERIH

(IV)  Fdeaed Heew q1 34 I 29




@ue: W: (Section B)
THICHH-HAH / THICHH-H1 (24 STgT:)

Writing Skills (15 Marks)
THSEAH - (2o eI, I W1 & (51 14 37F) 15%10=5
() R (i)  21.04.2018
(i) TR (iv) EEHe:
(v) — afeehcad, (vi) Frneae
(vii) BEm: (vii) HEAT:
(ix) YU&RNH (x) qeq
et - 2x5=10

T § TS U GiFH a9 /A ST 8| Hao 9T el St A 39 99
TG IEFT AT & | FTR 5 a1 T &1 T8 Hedqul e | TR 28 @ TE & W U
i fou A A | fou I Teg HerEard ¥, 99 Tg 94 19 8 - aRT® el 8| 9 @Y T
T ST L TR0 1 R B | o= e o A § few e T Jit fenafrat enfe o s d=d
g ora: o fqu | gt F o sfwa: wie S| quiadr 3% & W & go 3 fau ) v
T & fou R SE

Y1 (Or)

LN

T SEHET -
7 fohed @t TR % BT % fosu B | o & ¥t Hgw # fou Te aneef +i fonfeat onfe See Sd
F 1 3fe few rd | 2@ 921 3 off 2o i &1 E | Ik T & fo R IR F |

@oe: 7: (Section C)
AT, / AP RN (4 L)
Applied Grammar (25 Marks)

qes: /qlea=ag: - (TR T | T2t ST & o1 e1ifi i sraed fou o) o3 & fou

g 3F) 1x4=4
(i) g

(i) S+

(i)  de+SHEEE

(iv) @iy

Ta: /fawe: - (30 994 F1 O I¢3d /TS 1UaT faue i G0 8 | U R & o0 ¢
I T) 1x4=4
i) (3 AowuEE:

o o

(i) (| FwE ElaEE
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10.

<

(i) (=)  qEEEE
(iv) (31) 9= 9O GHER:

STRI-SIcTd: - (36 9% H T e IO fo5E Tl & | 31d: qU1 3 fau o) 1x4=4
@0 @) FE

() (@) e

(i) @) TOIE+dS

(iv) (1) Sifhh+Y,

TR, - (36 5% 1 22 BTl i aTo4-TRE Tl ST T THA Fl T 2 | B0 & g0l
TG, T GH: 5@ STURTd & Y el fosarel T ¥t qui siek fom S| e 9T & ¢ 37 §) 1x3=3

(1) geY:
(i) e
(iii) fFad

HHA: - (3% T % [T ¢ 37 8)

(i) RECICD
(i)  EHEEEE

AT - (T SAATTAR T, Tk W1 % (o ¢ i )

o

G 9k
(i) &
(iii)
iv) U

IRIFG- R - (ST W % [T ¢ 37 B)

(1) T=3d:
(i) &

(iii) TS
(iv) &arm

1x2=2

1x4=4

1x4=4
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@ue: ¥ (Section D)
qfa-STaaae, / qiéd-Stasae (30 Sig:)
Reading Comprehension (30 Marks)
11. 399 1 G Sead e TOe 8 | = qaEar 2eal F1 SENT T T & | 9O 3i feu o)
I IR Tl &l 9T Al o fq < -

() TR
)  UHYGH I - 1x2=2
(i)  EEE
(i)  TIEgS
) Yol 3O - 2x1=2

()  JeUS: IIGF: AGed - A Wil TG e FY waw g IRAT A
FUH T Il AT &2 SR
)  wies-wed (frhed: =gm) Vxd=2
F) (iii)  dISh:
) (i) g

mo () TR
70 @0 S

(3T SR
)  OHYQH I - 1x2=2
(1) ;e
(i) R
)  qUEmRH ST - 2x1=2
(i)  T: FIcS TR O A I §: Fh: Hafd?
)  Wiees-wed (fhedd: =aem) Vhxd=2
® () 9 c
@) (i) A%
w0 %
1) B VR = |
(3) dAeE:
I) TR I - 1x2=2
@ =i
(i) g
[[) kAR 3TN - 2x1=2

() T g S TR SR, el | G I =k SRIdd, e
q: T b TR FHGUGH, Y qH:  InTed |
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12.

13.

14.

M)  ies-FEd (fahedd: =g) Vox4=2
F) (i) owERE:

@ (i) uEE

moo@OH  dEl

bW aN

®) (i) &

TATHIOR - (3 921 H I haos THaTIh 2 (5@ Tohel & | Tl 31T 1 20 & Aqarad: ik He

S A o6 901 | 3 9t § e T & o fhedicd® I &1 G 2 | 1x4=4
(1) %

i) g

(i) @1/FRm

(iv) &

I - (T F I W o TR B) Vax8=4
@® () e () o (i) T (v) @

@ () A () fEmaem (i) @ (iv) dehdadl

o

TeTY: - (30 9N H 9 IR weag W (5w awd B\ aae anfe R 2 | o s & we
S | e T % fo ¢ SfEw R D) 1x4=4
@) (i) IR,

@ () (R

@ (i) o

X\

& @O =

IR R I
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